1EHEADRBERFELEINT

28%t BIEELE SHTERE FOE: e 1 R
[ERlhs | 6 4 12 8
E R 2 -4 8 -3
W[t} 9 7 9 4
REH [BAHLAE 0 19] -2 5/ 0 33| -2 6 22.2%
Hi 1 1 1 1
ERE 1 -1 3 -2
EEEE-m 0 0 0 0
ERldR ] 0 0 0 0
IER =] 0 0 0 0
IEW;: i} 0 0 0 0
REEH |BALE 0 00 o of o o o 0 -
3 0 0 0 0
IERES 0 0 0 0
EEEE-m 0 0 0 0
ERlch | 6 3 12 7
ERIE 3 -3 11 0
IER i 9 7 9 3
BEH |tHLE 0 20| -2 4 o 36| -2 6 20.0%
HE 1 1 1 1
RS 1 -2 3 -3
EEEn-ml o 0 0 0
2FLIRTT DI BB R FEEKR
2HET AIELE SHTERE AISELE IS
HEH 318 -95 667 -139 -17.2%
FEE 2 0 6 4 200.0%
ZEH 370 -130 774 -207 -21.1%
JALEEN DR BERFEAENKNR
2HET AIEELE SHTERE AISELE S
HEH 664 -93 1,373 -188 -12.0%
FEE 9 6 25 16 177.8%
ZEH 777 -136 1,590 -300 -15.9%
| 2 AIlIX X 38 = i T 38 | [HTE 1R1B~2AKRKRAE( IRNIFATEL]
EEEMREEHH 33|14 (8)[ 1%
EEH o|A 0| A
B8EEN 36| A )| A




